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fa: Ul esuuw
(=2)° +10 = 4 —(-8) =
(—6)° = (=5) = 70 -2=
(-2)° = (-3) = (-10)° = (-2) =
10+ 10 = 52 —(-10) =
(—10)*> — (-8) = (—10)> =3 =
5 -(3)= (D= (6=
10° +(-7) = (—6)—7=
P -(-7= 9-4=
(—2)° -2 = 9% +(—6) =
9} —17= 20 +(~10) =

www.snowmath.com



%@ /7 OO

LRUADL AU ILRULU ANAIIIUIULAN

fa:

-2 +10=11
(=6)° = (=5) = 41
(=2)* =(-3)=7
10+ 10 =20
(—10)> — (-8) = 108
5 —(-3)=128
10° + (=7) = 993
3 —(=7) =34
(-2)* —2=(-10)

9 —7="722

oy
de

£ —(-8)=172

7’ =2=(-1)
(-10)" = (-2) =3
5% —(~10) = 35
(—10)° —3 = (~1003)
(D)= (=6)=7
(—6)— 7= (~13)
9-4=75

9° +(=6) = 75

20 +(=10) = (-9)
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